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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 1510 5.6 0.8 6 93 100
2 1509 4.8 1.1 6 79.6 99.9
3 1506 4.6 1.2 6 77.2 99.7
4 1491 3.4 1.7 6 57 98.7
5 1493 3.2 1.4 6 53 98.9
6 1488 2 1.1 6 32.5 98.5
7 1500 2.9 1.4 6 48.2 99.3
8 1504 3.9 1.6 6 65 99.6
9 1487 2 1 6 33.1 98.5

10 1484 2.2 1.7 6 36.5 98.3
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Question 4 [6] 


(a) un grand succès (1) 


(b) un tour de Paris (à vélo) (1) 


(c) pas de stress (de la circulation)/pas de voitures/la pollution baisse de 25 %/
52 % moins de voitures/une grande atmosphère de fête (1) 


(d) bus/taxis/urgences (any 2) (2) 


(e) répéter (la journée) (1) 


Question 5 [6] 


When you should start looking: March (1) 


Why you should ask people you know: easy/easier/easiest (method) (1) 


What you should be careful about: your appearance/strange hair(styles) (1)


Where else you can look for jobs: 
Write two details 


• (local) paper (NOT journals)
• internet (sites)


(NOT Club Teli) (2) 


Why you should contact club Teli: to work abroad/in a different country (1)


Question 6 [6] 


(a) farmer (1) 


(b) not big/not fat/not impressive/didn’t make a good impression (1) 


(c) in a bedroom/on the farm/in a room/in a little room (1) 


(d) happy (1) 


(e) repair walls/wash bottles (any 1) (1) 


(f) loads of bottles/cellar was full/never seen so many bottles (1) 


Question 7 [6] 


(a) when she was at school/6th form/college/younger/young (NOT little/baby/ (1) 
very young)


(b) French (national) (women’s) team/ France (NOT Toulouse) (1) 


(c) 6 and a half hours (1) 


(d) a leisure activity/not a sport (NOT a leisure sport) (1) 


(e) baby-foot: played in a café/for fun (not serious) (1)
table football: rules/competitive/it’s a competition/real sport (1) (2)
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Sticky Note

a) 1
b) 0
c) 0
d) 0
e) 1
Total 2/6



Sticky Note

Answer lifted from text and sufficient to answer the question without ambiguity.



Sticky Note

Incorrect answer lifted from text.



Sticky Note

Incorrect answer according to the text.



Sticky Note

Here the candidate was required to write two types of vehicles from bus/taxis/services d'urgence.



Sticky Note

Lifted from text but correctly answers the question with no ambiguity. It is acceptable to lift answers from the text but care needs to be taken in how much of the text is selected.












Sticky Note

Answers in French. Answers can be lifted from the text but care needs to be taken not to lift too much or too little.



Sticky Note

a) 1
b) 0
c) 0
d) 2
e) 1
Total 4/6



Sticky Note

Lifted from text and correct.



Sticky Note

Lifted from text but does not answer the question. Incorrect.



Sticky Note

This is an example of too little being taken from the text. The candidate needed to add in 'de fete' as the candidate's response does not fully answer the question. There were other possible answers from the text, such as 'no stress from the traffic'.



Sticky Note

Both responses are correct. There were three possible answers.



Sticky Note

Lifted from the text and answers the question. Correct. 












Sticky Note

Answers in French. Answers can be lifted form the text but candidates should take care not to lift too much or too little, which creates ambiguity.



Sticky Note

Total 6/6



Sticky Note

Short but correct. Lifted from text.



Sticky Note

Again, lifted from text and answers the question.



Sticky Note

Lifted from text. Quite a long chunk but all of it is appropriate and correctly chosen with no ambiguity.



Sticky Note

Both answers are correct.



Sticky Note

Lifted from text. Short, but precise and correctly answers the question.












Question 4	 [6]


Lis ce commentaire de Paul sur la journée sans voitures à Paris. Réponds aux questions en  
français.


Aujourd’hui à Paris c’est la première journée sans voitures. 
C’est un grand succès !


Il y a une grande atmosphère de fête et nous faisons le tour de 
Paris à vélo. Pas de stress à cause de la circulation !


Les bus, les taxis et les services d’urgences ont la permission 
d’entrer dans Paris mais il y a 52 % de voitures en moins dans 
les rues et la pollution baisse de 25 %.


Il faut absolument répéter cette journée l’année prochaine. 


(a) Quelle est l’opinion de Paul sur la journée ? [1]


(b) Que font Paul et ses amis à Paris ? [1]


(c) Quel est l’avantage de la journée pour la population ? [1]


(d) Quels véhicules peuvent circuler ? Écris deux détails. [2]


• . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


• . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


(e) Qu’est-ce qu’il faut faire l’année prochaine ? [1]
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Question 4 [6] 


(a) un grand succès (1) 


(b) un tour de Paris (à vélo) (1) 


(c) pas de stress (de la circulation)/pas de voitures/la pollution baisse de 25 %/
52 % moins de voitures/une grande atmosphère de fête (1) 


(d) bus/taxis/urgences (any 2) (2) 


(e) répéter (la journée) (1) 


Question 5 [6] 


When you should start looking: March (1) 


Why you should ask people you know: easy/easier/easiest (method) (1) 


What you should be careful about: your appearance/strange hair(styles) (1)


Where else you can look for jobs: 
Write two details 


• (local) paper (NOT journals)
• internet (sites)


(NOT Club Teli) (2) 


Why you should contact club Teli: to work abroad/in a different country (1)


Question 6 [6] 


(a) farmer (1) 


(b) not big/not fat/not impressive/didn’t make a good impression (1) 


(c) in a bedroom/on the farm/in a room/in a little room (1) 


(d) happy (1) 


(e) repair walls/wash bottles (any 1) (1) 


(f) loads of bottles/cellar was full/never seen so many bottles (1) 


Question 7 [6] 


(a) when she was at school/6th form/college/younger/young (NOT little/baby/ (1) 
very young)


(b) French (national) (women’s) team/ France (NOT Toulouse) (1) 


(c) 6 and a half hours (1) 


(d) a leisure activity/not a sport (NOT a leisure sport) (1) 


(e) baby-foot: played in a café/for fun (not serious) (1)
table football: rules/competitive/it’s a competition/real sport (1) (2)





		GCSE MARKING SCHEME

		INTRODUCTION

		COMPONENT 3: READING FOUNDATION TIER

		(60 marks)

		Translation into English

		Marking reminders

		Question 2 [6]

		Question 5 [6]










Sticky Note

Total 1/6



Sticky Note

Candidate has incorrectly picked up the word été without looking further for the key word 'commencer'. The answer should be 'March'.



Sticky Note

This appears to be a guess. The key item of vocabulary 'facile' is obviously not known.



Sticky Note

This is close to a correct answer but too specific. The text warns of 'strange hair' but no reference to 'dyed'. 



Sticky Note

'Online' is correct and picked up from the cognate 'Internet'. The first answer is incorrect and the candidate has guessed what might go with the cognate 'local'.



Sticky Note

The candidate obviously knows the word 'étranger' but does not seem to know that it references 'abroad' here. A good attempt to make sense of what is written but, sadly, incorrect.












Sticky Note

The candidate shows good understanding of the text.
Total 5/6



Sticky Note

This was sufficient to score a mark. Reference to hair was not required but would also be correct.



Sticky Note

Many candidates did not know the word 'journal' and many lost marks for responding with 'the journal'. This candidate answered both parts correctly.



Sticky Note

This was the most difficult part of this question as many candidates did not know either 'l'étranger' or 'pays'. 












Sticky Note

Total 3/6



Sticky Note

The candidate has seen the word 'été' and has looked no further. The verb 'commencer' should have been the clue word for the location of the correct answer 'March'.



Sticky Note

Correct.



Sticky Note

Correct.



Sticky Note

The second half of the answer is correct. The word 'journal' was often not known or mistranslated as journal.



Sticky Note

L'étranger was not widely known and this question was often answered incorrectly.












Question 5	 [6]


Read the following article from www.phosphore.com about how to find a job. Complete the grid in 
English.


When you should start 
looking: [1]


Why you should ask people 
you know: [1]


What you should be careful 
about:


[1]


Where else you can look for 
jobs:


Write two details


•


•


[2]


Why you should contact 
club Teli: [1]


Comment trouver un job ? 


• Pour travailler cet été, il faut commencer au mois de mars.
Commencez avec les parents, les adultes, les commerçants que
vous connaissez… C’est la méthode la plus facile !


• Faites attention à votre apparence. En général les adultes
n’aiment pas les cheveux un peu bizarres !


• Consultez les offres d’emploi dans le journal local ou les sites
Internet.


• Vous voulez un job à l’étranger ? Contactez le club Teli. C’est un
site qui peut vous aider à trouver un travail dans un autre pays.
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Question 8 [6] 
 
(a) Who prefers going to a holiday camp rather than holidaying with family? Antoine 


(b) Who doesn’t want to go to a holiday camp? Valentin 


(c) Who can’t afford to go to a holiday camp? Théo 


(d) Who thinks that camps have too many rules? Valentin 


(e) Who enjoys meeting up with friends? Manon 


(f) Who is never bored? Manon 
 
 
Question 9 [6] 
 
(a) town hall (1) 
 
(b) in a dream/emotional (1) 
 
(c) looking at each other (1) 
 
(d) flowers on it/dressed/decorated with flowers/set for 7 (1) 
 
(e) calm (1) 
 
(f) frightened/horribly scared/horribly anxious (NOT horrible on its own) (1) 
 
 
Question 10 – Translation [6] 
 
French *Reward 1 mark for each section 


J’adore sortir avec mes amis. I love going out/to go out with my friends. 


Normalement on se rencontre en ville le samedi. Normally we meet in town on Saturday. 
NOT ‘go’ 


Souvent on fait les magasins. Often, we go shopping/go to the shops 


Le weekend dernier j’ai acheté des chaussures. Last weekend I bought (some) shoes. 


De temps en temps on va au cinéma From time to time/now and again we go 
to the cinema 


pour voir un nouveau film. to/and see/watch/view a new film. 
 
*To be discussed at examiners’ conference 
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		GCSE MARKING SCHEME

		GCSE MARKING SCHEME

		INTRODUCTION

		INTRODUCTION

		COMPONENT 3: READING FOUNDATION TIER

		COMPONENT 3: READING FOUNDATION TIER

		(60 marks)

		(60 marks)

		Translation into English

		Translation into English

		Marking reminders

		Marking reminders

		Question 2 [6]

		Question 2 [6]

		Question 5 [6]

		Question 5 [6]










Sticky Note

Total 1/6
The translation is marked in sections and the whole section must be correct to obtain the mark. Attention to detail is very important as it is easy to lose the mark because of a missing piece.



Sticky Note

Correct translation: I love going out with my friends. Incorrect verb translation so no marks.



Sticky Note

'Often we meet in town on Saturday'. Incorrect time indicator and verb.



Sticky Note

This is a correct translation so scores 1 mark.



Sticky Note

This is a good example of meaning being changed.  The correct answer is 'I bought some shoes'. The candidate's use of the word 'brought' is incorrect and changes the meaning of the sentence.



Sticky Note

Half of this section is correct - 'we go to the cinema' but, again, the wrong time indicator has been used resulting in a score of 0.



Sticky Note

'to see a new film' has been completely missed here, scoring 0.












Sticky Note

Attention to detail and ensuring that ALL parts of the sentence are translated is important. A mark is awarded for a section of the translation and all of it must be correct for 1 mark.
Total 3/6



Sticky Note

Incorrect verb.



Sticky Note

Part of this section is correct but the candidate did not know how to translate 'on se rencontre', therefore 0 was awarded.



Sticky Note

This was an acceptable translation of this section and was awarded 1 mark.



Sticky Note

A perfect translation of this section. 1 mark.



Sticky Note

Part of this sentence is correct but the time reference is incorrect so 0 was awarded. 



Sticky Note

A correct translation of this section so 1 mark was awarded.












Sticky Note

The translation is marked in sections and ALL of the section must be correct for 1 mark. Attention should be paid to time words, tenses and candidates must ensure that every element is translated.  This is an excellent example of a good response. 
Total 6/6



Sticky Note

Every section is correctly translated. Spelling mistakes in English do not create ambiguity. All tenses are correct.












Question 10 – Translation	 [6]


Read the following passage and translate it into English.


J’adore sortir avec mes amis. Normalement on se rencontre en ville le samedi. Souvent on fait 
les magasins. Le weekend dernier j’ai acheté des chaussures. De temps en temps on va au 
cinéma pour voir un nouveau film. 


Write your answer below:











